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Exercise

1. Marks obtained in an examination is

A. a) attribute

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JRdc3ff02m26


B. b) discrete variable

C. c) continuous variable

D. d) none of these

Answer:

Watch Video Solution

2. Mode of frequency distribution can be

obtained from

A. Frequency polygon

https://dl.doubtnut.com/l/_JRdc3ff02m26
https://dl.doubtnut.com/l/_auDlELyi5PHF


B. Histogram

C. Ogive

D. none of these

Answer:

Watch Video Solution

3. The mean deviation about median of n

distinct numbers is

A. least

https://dl.doubtnut.com/l/_auDlELyi5PHF
https://dl.doubtnut.com/l/_LmTA401IvRlM


B. zero

C. greatest

D. none of these

Answer:

Watch Video Solution

4. The least Fermat number is

A. 5

B. 3

https://dl.doubtnut.com/l/_LmTA401IvRlM
https://dl.doubtnut.com/l/_2h9drulfWFsu


C. 7

D. none of these

Answer:

Watch Video Solution

5. Remainder of the polynomial 

when it is divided by (2x - 1) is

A. 3

B. (-)3

2x2 + 5x − 6

https://dl.doubtnut.com/l/_2h9drulfWFsu
https://dl.doubtnut.com/l/_QbERUA4WQeDP


C. 0

D. 2

Answer:

Watch Video Solution

6. If P(A) = 0.2, P(B) = 0.4, P(AB) = 0.08, then

 equals to

A. a) 0.4

B. b) 0.2

P( )
B

Ac

https://dl.doubtnut.com/l/_QbERUA4WQeDP
https://dl.doubtnut.com/l/_1EyqDc99oMjc


C. c) 0.8

D. d) none of these

Answer:

Watch Video Solution

7. A coin is tossed three times in succession,

the number of sample points in the sample

space is

A. 6

https://dl.doubtnut.com/l/_1EyqDc99oMjc
https://dl.doubtnut.com/l/_PrXJxSSEm9PU


B. 8

C. 3

D. 9

Answer:

Watch Video Solution

8. If for a distribution  and ,

what percentage of observations lie between

25 and 45?:

Watch Video Solution

Q1 = 25 Q3 = 45

https://dl.doubtnut.com/l/_PrXJxSSEm9PU
https://dl.doubtnut.com/l/_2gdi9oY2hdvt


9. Under what condition the weighted average

becomes identical to the simple average?

Watch Video Solution

10. Which decile is taken as the measure of

central tendency?

Watch Video Solution

https://dl.doubtnut.com/l/_2gdi9oY2hdvt
https://dl.doubtnut.com/l/_y1oexPjlIMwl
https://dl.doubtnut.com/l/_M6sNiFTrDXIP


11. What is cross-sectional data?

Watch Video Solution

12. What is Random experiment?

Watch Video Solution

13. Define sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_c2yC44UgB7X0
https://dl.doubtnut.com/l/_RSelZxvwN3Rl
https://dl.doubtnut.com/l/_LbM8OF7ozMiH


14. State De Morgan's law for two arbitrary

events A and B.

Watch Video Solution

15. Define Real wage.

Watch Video Solution

16. What do you mean by price relative?

Watch Video Solution

https://dl.doubtnut.com/l/_UxwpFg1AwkTF
https://dl.doubtnut.com/l/_0IBwjdnkVZTT
https://dl.doubtnut.com/l/_VW8ZhsxTN2cZ


17. Define simple aggregative price index.

Watch Video Solution

18. If arithmetic mean and coefficient of

variation of a variable x are 10 and 50%

respectively, find Var (5 - 2x).

Watch Video Solution

https://dl.doubtnut.com/l/_VW8ZhsxTN2cZ
https://dl.doubtnut.com/l/_P8oOJ1zKLaVR
https://dl.doubtnut.com/l/_gShGUrxF9Ljx


19. Define discrete variable and continuous

variable.

Watch Video Solution

20. Explain the meaning of ordinal data with

example.

Watch Video Solution

https://dl.doubtnut.com/l/_hXdAb1xVaYP2
https://dl.doubtnut.com/l/_jtMnthNKNriK


21. If A and B are mutually exclusive events,

show that 

Watch Video Solution

P( ) =
A

A ∪ B

P (A)

P (A) + P (B)

22. Prove that 

Watch Video Solution

P(AC) = 1 − P (A)

23. A box contains 15 balls numbered 1 to 15.

Find the probability that a ball selected at

https://dl.doubtnut.com/l/_XZbElZVisPO8
https://dl.doubtnut.com/l/_4SgkBTcPRqOO
https://dl.doubtnut.com/l/_oxNa7MbD7DY2


random would bear a number that is a

multiple of 3 or 5.

Watch Video Solution

24. What is mail questionnaire method? When

this method is useful?

Watch Video Solution

25. Write down the different steps for drawing

Ogive.

https://dl.doubtnut.com/l/_oxNa7MbD7DY2
https://dl.doubtnut.com/l/_mita8go3qHnP
https://dl.doubtnut.com/l/_tvKa5JqhnGdq


Watch Video Solution

26. Suppose a variable x takes only two values

 and  with frequencies  and . If s be

the s.d. of x, show that 

Watch Video Solution

x1 x2 f1 f2

s2 = f1f2[ ]
2

x1 − x2

f1 + f2

27. What is interpolation? Explain  operator?

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_tvKa5JqhnGdq
https://dl.doubtnut.com/l/_V0gVymon4OsY
https://dl.doubtnut.com/l/_8wUQuk8VM5TE
https://dl.doubtnut.com/l/_wQcCMoUYmQHE


28. Find , .

Watch Video Solution

Δ(Δ(ax2 + bx + c)) (a ≠ 0)

29. Explain the concepts of pairwise

independence and mutual independence of

events.

Watch Video Solution

https://dl.doubtnut.com/l/_wQcCMoUYmQHE
https://dl.doubtnut.com/l/_0EOy24iIY1UI


30.  are n independent

events such that

Prove that 

Watch Video Solution

A1, A2………. An

P (Ai) = 1 − qi, I = 1, 2, 3……………. n

P[
n

⋃
i

Ai] = 1 − q1q2………. qn

31. What is Time Reversal Test? Show that

Fisher's Index No. satisfies Time Reversal Test.

Watch Video Solution

https://dl.doubtnut.com/l/_b46hd0bX8bDo
https://dl.doubtnut.com/l/_6e8sVKvdOgkb
https://dl.doubtnut.com/l/_15frAcM7rAVy


32. Suppose a variable assumes the values 0, 1,

2………….n with frequencies proportional to

binomial coefficeints

 respectively.

Find the mean of variable.

Watch Video Solution

^ nC0,n C1,n C2, ………. .n Cn

33. In a frequency table, the upper boundary of

each class-interval has a constant ratio to the

lower boundary. Show that the geometric

https://dl.doubtnut.com/l/_15frAcM7rAVy
https://dl.doubtnut.com/l/_f7JTxriRhcID


mean (G) may be expressed as

.

Watch Video Solution

log G = A +
r

∑
i = 1

fi(i − 1)
k

n

34. Write down two cases when mean

deviation about mean and standard deviations

are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_f7JTxriRhcID
https://dl.doubtnut.com/l/_rdFEw41xuI7A


35. There are three urns containing

respectively  black balls,  white balls and 

green balls for I = 1, 2, 3. One ball is drawn at

random from each of the three urns. Find the

probability that the balls are of same colour.

Watch Video Solution

bi wi gi

36. Three boxes of the same appearance have

the following proportions of black and white

balls : Box-I -5 black and 3 white, Box-II-6 black

https://dl.doubtnut.com/l/_X6pGvx88w6we
https://dl.doubtnut.com/l/_M2N8S82rNeWP


and 2 white. Box-III-3 black and 5 white. One of

the box is selected at random and one ball is

drawn randomly from it. Given that the ball is

black, find the probability that it came from

Box-III.

Watch Video Solution

37. Describe how you would construct a cost of

living index number for the lower middle class

people in Kolkata.

Watch Video Solution

https://dl.doubtnut.com/l/_M2N8S82rNeWP
https://dl.doubtnut.com/l/_Hqjg016BHyry


https://dl.doubtnut.com/l/_Hqjg016BHyry

